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Note : Answer questions from all the Sections as per

instruction.

Section—A

Note : Answer any two questions from this Section.

1.

2%x20=40

(a) Explain the 1dea of simple linear
regression between two variables X and Y.
What is the significance of including error

term in the regression model ?

P.T.O.
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(b) From the following information, obtain the

two regression equations :

X=20, Y=15, ox=4,0y=3 and
r=+0.7

Describe the components of a time series. How
do you eliminate irregular fluctuation from a

time series ?

(a) Explain the concept of standard normal
distribution. Why do we prefer it over the

normal distribution ?

(b) Under what circumstances do we use the

t-test ? Explain.

Distinguish between primary data and
secondary data. What are the methods of
collecting primary data ? What precautions do
we take while collecting data through a

questionnaire ?
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Section—B

Note : Answer any four questions from this

Section. 4x12=48

Describe the various methods of drawing a

probability sample.

What is meant by dispersion ? Describe the

common measures of dispersion.

What is a life table ? What are the important

features of a life table ?

(a) Define Bayes’ theorem.

(b) An insurance company insured 2000
scooters, 4000 cars and 6000 trucks. The
probability of accident is 0.01, 0.03 and
0.15 in the respective categories. One of
the insured vehicles met with an accident.
What 1is the probability that it i1s a

scooter ?

P.T.O.

9.

10.

11.

12.
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Explain the time reversal test in an index

number. Which index number satisfies it ?

Define correlation coefficient. What are its basic

properties ?

Define skewness. How is it measured ?
Section—C

Write short notes on any two of the following :

2%x6=12

(a) Coefficient of variation

(b) Null hypothesis

(¢) Standard error

(d) Non-sampling error
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